
_\1

- z,!11= 0,Í 
=.61.2}l^L7§179 , 1o'

, 63,zs , lŐE - 6t323 rnF
v.l {4 _

o,a,üa(Q , i, Fot@
í
l -_-

rca@)

N
tr) lI1

t
bl
(

lk, {o1 _ o

t"t@):? <-- &V

r--

- 5l€+q., t

O #r*u<
"il,'Te:hff
Tq_ftI-g: 4Oo

,(En

o,t trb) :,

uq@),,{ - ,r*r= -Q,

Fq(b): 12^- RsrE =l!-* lő,utg23 "4f

ru9*:I91J :) tE_l (b.): ü-c,Cao) - Ár+@) =9€?}4^'€fiV

tál(tl) = ot9 , üc,|Cd = Vcl tw) +

t,t

fw,b)-y"lr*ü{ T

[a - €té4€ *
--tlOt4 ,516+ = 5t61? , e_ T

ő# - o14 + ár+' =tlo )-Lt= T,L"4o

T=Ct@,ste)= 1oo, { €6, 2, é W
{-l = O(,{;3 , Qn",lo= 0,4E u,ts = 46?ls

r+@) =tr t
tíca6Q*o

ü+ű,

qb),(t-É ) -/2 t, = -rq

ür ro] =

12*.RTLq #, -a,SZ' ,#,
2,8snrvtJ-LíRj'R9 #. {- *.

lr -!al)úr3 *-,/

iA R-
V,r= ffi,/2=2,63U

x_ffi:3qwLíL

W,(+) =q@) +r^rrrc)

-l V- ,v -L+_L,., LA

-U-q@J,€ 'L= (fi(o)"e T l



@ üug@ Cyl

Vz

Vr=Vue

Vceg*f

L.t)4 =

A€qq6ffib -2

Upg(í): #t 
, g<Q<4 95

Vgg&,) =Vse -_> l!t=otT
f=9-É-=',=ű=:t:,

,T
-LB *

TBz =

lC^1

rÁlLv]
í,

L-ti VJss - Vue

RI

. V, -Ver
R1

tCnű Vcr= 4A-RrI.-a7-\!T3

-- ) 2 - ?,fTs-) T3,= tr#'#fr= 7s,7lft

V Y. + Tgr, & € o ,v* ?8|},r §{, ao{ _ \sav
, V- 1,1o ,
ll-

l* t1^,l)l

T.dB)
20

v.=Al_ fr+ ft (l+

lA=(v- -r_) t
,7 l
=z= PC,
Lr' \_ V.: Zz- '/fi(1,tv)=ffi_= E= dúc{R7

| :l,,(, .-c
J @1 )í

C-9
.n
' T4 - zTCrQt

L4l
(

l/cee,f

VL=

t)u"

-JI/,

a7L

t,f

t4q.@|

4(air,,)=,t > C.= #ű:#őrű = 45,9 nP

o

{

i

í

w(l^\
;ü/


